

$$\alpha = 2\beta$$

$$S = \alpha + \beta = \frac{a}{1} \quad p = \alpha \cdot \beta = \frac{r}{1} \Rightarrow 2\beta \cdot \beta = 2\beta^2 = \frac{r}{1} \Rightarrow \beta^2 = \frac{r}{2} \Rightarrow \beta = \pm \sqrt{\frac{r}{2}} \quad ①$$

$$\rightarrow 2\beta + \beta = \frac{a}{1} \Rightarrow 3\beta = \frac{a}{1} \quad 12\beta = a \quad ②$$

$$12\alpha \left(\pm \sqrt{\frac{r}{2}}\right) = a \Rightarrow a = \pm 12\sqrt{\frac{r}{2}} \quad 1 - (-1) = 12$$

$$\sqrt{\frac{1}{a}} + \sqrt{\frac{1}{b}} = \frac{1}{\sqrt{a}} + \frac{1}{\sqrt{b}} = \frac{\sqrt{b} + \sqrt{a}}{\sqrt{ab}} = \omega \Rightarrow \omega \alpha \frac{1}{9} = \sqrt{a} + \sqrt{b}$$

$$a \cdot b = \frac{1}{14}$$

$$a + b = \frac{m+12}{14} \Rightarrow \frac{20}{14} = a + b + 2\sqrt{ab} = \frac{20}{14} = \frac{m+12}{14} + \frac{1}{9}$$

$$\times 14 \Rightarrow 20 = m + 12 + 12 \Rightarrow m = -1 \quad m\alpha^2 + 12m + 12 \Rightarrow p = \frac{r}{m} = -12$$

ضد کمالی صفایر $x^2 - x - 2 = 0$ جذبه $x^2 - x - 2 = 0$ در نظر بگیریم

$$(kn+m)(x^2-x-2) = kn^2 + knx^2 - an - 2 = 0$$

$$kn^2 + (m-k)x^2 - (1+m)x - 2m = kn^2 + knx^2 - an - 2$$

$$m=1 \quad m-k=k \Rightarrow k = -1$$

$$a + b = -9 \quad 2(a^2 + b^2) + a^2 = 12\sqrt{r} + 120 \Rightarrow 2((a+b)^2 - 2ab) + a^2 = 12\sqrt{r} + 120$$

$$12\sqrt{r} + 120 \Rightarrow 72 - 4ab = 12\sqrt{r} + 120 \Rightarrow 72 - 120 - 12\sqrt{r} = 4ab$$

$$-12\sqrt{r} - 12 = 4ab \Rightarrow ab = -3\sqrt{r} - \frac{3}{2}$$

$$\alpha^2 + 9\alpha - 3\sqrt{r} - \frac{3}{2} = 0 \Rightarrow \alpha = \frac{-9 \pm \sqrt{81 + 12\sqrt{r} + 12}}{2}$$

$$\frac{-9 \pm \sqrt{81 + 12\sqrt{r}}}{2} \Rightarrow a < 0 \quad a = \frac{-9 + \sqrt{81 + 12\sqrt{r}}}{2}$$

$$x^2 - Vx^2 - 8x = 0 \Rightarrow x_1 = \frac{+V \pm \sqrt{49 + 16}}{2} \Rightarrow x_1 = \frac{V + \sqrt{65}}{2}$$

$$x_2 = \frac{-V + \sqrt{65}}{2}$$

$$S = 0 \quad p = - \frac{\sqrt{V + \sqrt{65}}}{\sqrt{2}} \times \sqrt{\frac{V + \sqrt{65}}{2}} =$$

$$- \frac{49 + 65 + 16\sqrt{65}}{2} = p$$

$$2p^2 = 4Sp + 16 \Rightarrow 4p^2 = \left(\frac{-49 - 65 - 16\sqrt{65}}{2}\right)^2 = 89 + 16\sqrt{65}$$

$$x^r - an + b = 0 \Rightarrow n_1 + \dots / nr + \dots \Rightarrow g = n_1 + nr + 1 = \frac{a}{r} \quad (1)$$

$$ran^r + an - 9 = 0 \Rightarrow n_1 \neq nr \Rightarrow n_1 + nr = g = -\frac{1}{r}$$

$$\xrightarrow{(1)} -\frac{1}{r} + 1 = \frac{a}{r} \Rightarrow a = 1 \quad n_1 \cdot nr = -\frac{r}{a} = -r$$

$$(n_1 + \frac{1}{r})(nr + \frac{1}{r}) = \frac{b}{r} \Rightarrow \cancel{n_1 nr} + \frac{1}{r} n_1 + \frac{1}{r} nr + \frac{1}{r^2} = \frac{b}{r}$$

$$-r + \frac{1}{r} (\cancel{n_1 nr} + \frac{1}{r}) + \frac{1}{r} = \frac{b}{r} \Rightarrow -r - \frac{1}{r} + \frac{1}{r} = \frac{b}{r}$$

$$b = -9 \quad \left[\frac{ab}{r} \right] = \left[\frac{-9 \times 1}{r} \right] = \left[-\frac{r}{r} \right] = -r$$

$$an^r - an - b = 0 \quad r \cdot \beta^r + r \cdot a^r - r \cdot \beta = 14$$

$$\hookrightarrow \alpha + \beta = 1$$

$$\hookrightarrow r \cdot \beta^r + r \cdot a^r + r \cdot \beta^r - r \cdot \beta = 14$$

$$\alpha \cdot \beta = -\frac{b}{a}$$

$$r \cdot [(\beta^r + a^r) + \beta^r - \beta] = 14$$

$$r \cdot [(a + \beta)^r - r\alpha\beta] + r \cdot (\beta^r - \beta) = 14 \Rightarrow r \cdot (1 + \frac{r \cdot b}{a}) +$$

$$r \cdot \beta(\beta - 1) = 14 \Rightarrow r \cdot + \frac{r \cdot b}{a} + r \cdot \beta^r - r \cdot \beta = 14$$

$$r \cdot \beta^r - r \cdot \beta = 14 \xrightarrow{-r} r \cdot - \frac{r \cdot b}{a} = -(r + \frac{r \cdot b}{a}) \xrightarrow{\text{cancel } r} r \cdot + \frac{r \cdot b}{a} - r - \frac{r \cdot b}{a} = 14 \checkmark$$

$$\alpha - 1 = \beta \xrightarrow{\text{substitute}} r \cdot (a - 1)^r + r \cdot a^r - r \cdot (a - 1) = 14 \quad \text{: معرعة}$$

$$\Rightarrow 4 \cdot a^r - 4 \cdot a + r = 0 \Rightarrow r \cdot a^r - r \cdot a + 1 = 0$$

$$\frac{\sqrt{\Delta}}{a} = \frac{\sqrt{r \cdot a - 1}}{r} = \frac{\sqrt{0}}{0}$$

$$x^r - (a+1)x + a = 0 \Rightarrow n_1 + n_1 + r = a+1 \Rightarrow rn_1 = a-1$$

$$\Rightarrow p_1 = n_1^r + rn_1 = a \quad \frac{a}{r} \in \mathbb{Z}$$

$$(1) n_1 = \frac{a-1}{r}$$

$$x^r - (ra+1)x + b = 0 \quad nr + nr + r = ra+1 \Rightarrow nr = \frac{ra-1}{r} \quad (2)$$

$$\Rightarrow p_r = n_r^r + rn_r = b$$

$$(1) rn_1 + 1 = a, n_1^r + rn_1 = a \Rightarrow \cancel{rn_1} + n_1^r = \cancel{rn_1} + 1 \Rightarrow n_1 = \pm 1$$

$$n_1 = 1, n_1 + r = r, a = 1 + r = r \Rightarrow +1 \checkmark$$

$$nr = \frac{ra-1}{r} = \frac{r \times r - 1}{r} = r \quad nr + r = 9$$

$$|p_1 - p_r| = |r - rf| = |r|$$

$$\alpha + \beta = -1 \quad \alpha \cdot \beta = -(m^r + 1) \quad \alpha^r + \beta^r = (\alpha + \beta)^r - r\alpha\beta$$

$$= 1 + r m^r + r = r m^r + r \implies \min y_s = \frac{-\Delta}{F_{\alpha}} = \frac{-(-rF)}{\Lambda} = \boxed{r}$$

$$\alpha^r + \beta^r = 0 \implies (\alpha + \beta)^r - r\alpha\beta = 0 \quad (1)$$

$$y = \alpha m^r + b n + c \implies y \implies r\alpha a - \delta b + c = r\alpha + r b + c$$

$$\implies 14a = \Lambda b \quad r\alpha = b \quad y_s = 1 = \frac{-\Delta}{F_{\alpha}} = \frac{-b^r + r\alpha c}{F_{\alpha}} = 1$$

$$\xrightarrow{b=r\alpha} \frac{-r\alpha^r + r\alpha c}{F_{\alpha}} = 1 \implies r\alpha = -r\alpha^r + r\alpha c \implies$$

$$\cancel{F_{\alpha}} = \cancel{F_{\alpha}}(c - \alpha) \implies c - \alpha = 1 \quad \boxed{c = \alpha + 1} \quad c = \frac{b}{r} + 1$$

$$\alpha + \beta = \frac{-b}{a} \quad \alpha\beta = \frac{c}{a} \xrightarrow{(1)} \left(\frac{-b}{a}\right)^r - r\left(\frac{c}{a}\right) = 0$$

$$\xrightarrow{c = \alpha + 1 = \frac{b}{r} + 1} \xrightarrow{r\alpha = b} \left(\frac{-r\alpha}{a}\right)^r - r\left(\frac{\alpha+1}{a}\right) = 0 \implies r - \left(\frac{r\alpha + r}{a}\right) = 0$$

$$\frac{r\alpha - r\alpha + r}{a} = 0 \implies \delta a = \cancel{r\alpha} - r\alpha + r \quad r\alpha = r$$

$$c = \frac{r}{r} + 1 = \frac{0}{r} \quad a = \frac{r}{r}$$